= BARRACUDA

ASSEMBLING INSTRUCTION

CRASH PAD
SUZUKI GSX-R 600 (11-16)
SUZUKI GSX-R 750 (11-16)

SP6101/11

WWW.BARRACUDAMOTO.COM

LEGEND

. HEAD PAD

TESTA TAMPONE
TIESTA DE TOPE
STURZPAD KOPF
TETE TAMPON

. NUT @10

DADO @10

TUERCA 010
MUTTER @10
ECROU ©10

. BASE PAD

BASE TAMPOMNE
BASE DE TOPE
STURZPAD BASIS
BASE TAMPON

LEFT SIDE

4.

M10X50 SCREW
VITE M10X50
TORMILLO M10X50
M10X50 SCHRAUBE
VIS M10X50

SPACER TUBE H.45
DISTAMZIALE H.4
DISTAMCIADOR H.45
DISTANZROHR H.45
ESPACEUR H.45

. M10XB0 SCREW

VITE M10X80
TORMNILLO M10X80
M10XED SCHRAUBE
VIS M10XB0

7.

8.

9.

SPACER TUBE H.6
DISTANZIALE H.6
DISTAMCIADOR H.6
DISTANZROHR H.6
ESPACEUR H.6

10. M10X55 SCREW

M10X70 SCREW
VITE M10X70
TORNILLO M10X70
M10X70 SCHRAUBE
VIS M10X70

SPACER TUBE H.20
DISTANZIALE H.20
DISTANCIADOR H.20
DISTANZROHR H.20
ESPACEUR H.20

RIGHT SIDE

EN: REPLACE THE BUSHING IN THE KIT (6X30) INSERT THE H. 8 SPACER IN
CONTRAST BETWEEN THE BOTTOM AND THE FRAME TO GET THE RIGHT DISTANCE

IT: SOSTITUIRE LA BOCCOLA CHE S TROVA NEL KIT (6X30). INSERIRE IL
DISTANZIALE H. 8 IN CONTRASTO TRA IL FONDO E IL TELAIO PER AVERE LA
GIUSTA DISTANZA

ES: SUSTITUIR EL CASQUILLO DEL KIT (6X30). INSERTE EL ESPACIADOR H. 8 EN
COMNTRASTE ENTRE LA PARTE INFERIOR ¥ EL MARCO PARA OBTENER LA
DISTANCIA CORRECTA

DE: ERSETZEN SIE DIE BUCHSE AUS DEM SATZ (6X30). FUGEN SIEDIEH. 8
ABSTANDHALTER IM GEGENSATZ ZWISCHEN DEM BODEN UND DEM RAHMEN, UM
DEM RICHTIGEN ABSTAND ZU ERHALTEN

FR: REMPLACER LA BAGUE DU KIT (6X30). INSERER LENTRETOISE H. 8 EN
CONTRASTE ENTRE LE FOND ET LE CADRE POUR OBTENIR LA BONNE DISTANCE




